o~ _ol—

L ®

l

I~

(NS



lﬂy,/} ey C\ /
77 ek
oér,/ 2l ( 77 i ,\ 1((
el hte -

Dot o A= —
cay 07e
PN
77— o - g S\
2 (>290) - @& . o
o - 6.2352




= 2( Lo Lbetovd] Waeiputf — Losldot: loonl)
) . =/
/"%1 foors oy el

% 2‘(48% _
Lo [hetle. & wndlep .
5 Log \= 6934
“5 Lo 4 (5/682) ~ S
= -09.69

2 W= - (9a-20a0) = 158




IV
(¢ )= #
plef = te
B/ [ue ™ de =(Er)e™
/,,_.///; £
S oae) -
F(¢) €t

o0
nTrF = f REJL4 - f@f/)ﬁ ek -2
° @)

W(2w0) = 2
et s+ Li wee, |
> o0 £ J
+ . ;
S
He - (20) = L2 Lo
o R

L et x (0 fet O Logebao YO






&\) A sk b Al ot /1~ 6W(w//4)

/

m(h [x) oc JGlr) 7 (0)

X o = |
N\ — At A X ,,“\ - /3 A
REVA B

o)

Xtx ~( — f(/(\
Ny e ¢

%mw %(O(f)//p+€)

A

i«
2 A&w i W U aperleatn -

0{1‘/\(

x|

~

AT T
{

/

AlosTER €| el Ko, l[ - {9 W\A

Awb "AP,Q(o\t( (O(/ (/3) * . Wﬁm&vﬁ
med < he ot /\3% Lo eed e gubdotic s

%«Q/&&» ’t/{ a\/{" wﬁ/ o Bese  F rur //3 Ceon




) % (/f// /S

2) : - -

Sy 20rSe > C.1 2 (/QMC“‘)
A X a

S e TS0 50 = LT (et
/1’62—5,2/! ,(:&/é? »ﬂ

Credlil beks. fo i f

V@%W <, C. st A =

Plc ey A <ce | x=x) =020
f

P( 2Wprt)c, < %{ Z < 2(srt) C%}Z‘

:O_OLQ
A l

&~ QCJZ(‘(W) ) %Jo

Voo e P (349 4 > < (3.3 ) = 0206




